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. A real number x is such that the sum

of the number and four times its square PYQ -2024-1i
is the least. What is that number ?
(a) —0:625 0
ot A (0g) () and (d) are +ve —
(b) —0-125 APt (a) s . ) C/I'minafca/
- =+ Yy -
() 0125 T (3) - =90 4100 _
C ’ '912'1‘1 + 0 $ & 6‘/) o %
@ 1,
14 bx ) <L L aufL)s 4. g
y 6
r o -5 - -/ - -
% or A Quadrafc expresym —) T2 — T
AeasF value 7{ ? a f ” e .
Norks af X = —4
aa = =038
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. A real number x is such that the sum
of the number and four times its square AL
is the least. What is that number ?
(a) —0-625
(b) —=0-125
(c) 0-125

(d) 1

Ans: B
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Let k be a positive integer. What is

the quotient when PYQ—2024-1I
(Bk+3 4 (Bk+6 4 (BK+9 | (8k+12
is divided by (1 + x3)(1 +x6) 2
(a) xSk
gh+3 gk+1
(®) d (/7‘ ?)+ x (/+1’)
(C) x8k+2
(d) x8k+3 ﬁ’k{'3 9 kf 7
( (+1 g} ( 1 + 2
M

(11%) x’k“(u x‘)

xfkw
o
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Let £ be a positive integer. What is
the quotient when
xBk+3 L 8Bk+6 4 ,Bk+9 4 8Kk+I2

is divided by (1 +x°)(1 +x5) ?

PYQ-2024-1I

(a) xSk
(b) .1‘8 k+1
(C) x8k+2

(d) x8k+3

Ans: D
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PYQ - 2024 - I

w(}é}[zﬁ} (“d—'/;} f(zf EL) - e?(&u.le)

and x +z # 2y, then what is xyz equal

to ?
(a) -3 | Wz',', + MZ*/__ = ‘éxéyZJ.O?—’
v 7 VU zZX
®) -1 d( i
1Yz + 4
() 1 19}7’2+1+X‘,’¥227‘Z—- - ,?U,f —
-V

o % #
z?/z + 722+ 1+2 f};rfz - -?dg "d’z (”VJ/) : (")W
yel(ora-dg) =g
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PYQ - 2024 - I

e e3)
y+—|—|z+—
ZXx Xy
and x +z # 2y, then what is xyz equal

to?
(a) -3
(b) -1

© 1

(d 3

Ans: B
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If x> + px% + gx + r is an integer for all
integral values of x, then consider the PYQ -2024 -1
following statements :

I. p must be an integer o 13 -+ fx -+ Zl +7

II. g must be an integer

II. r must be an integer p( ]‘) f :’é- 1= °?

Which of the statements given above 5

is/are correct ? 2/.) zz y Z - :‘L , =4
| e

(2) Iand II only

(b) III only -

(¢) I, II and III

(d) None of the statements is correct -/
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If x> + px% + gx + r is an integer for all
integral values of x, then consider the
following statements :

PYQ - 2024 - I

I. p must be an integer
II. ¢ must be an integer
II. » must be an integer

Which of the statements given above
is/are correct ?

(2) Iand II only
(b) III only
(¢) I II and III

(d) None of the statements is correct Ans: D



CDS 1 2025 LIVE CLASS - MATHS - PART 6

If the sum and product of the roots of a

PYQ - 2024 -1

quadratic equation are 2 and -100

respectively, then which one of the following is
correct ?

o o{+p =4
(a) There are infinitely many such
equations having different roots.

i /9 = —/00
(b) There is only one such equation which is
x2 + 2x — 100 = 0.

%2- (QUM )"Mfl X + roducl ¢ )
‘/ } (/)T‘oofx)

(¢) There is only one such equation which is
x2 - 2x — 100 = 0.

(d) There is no such equation. 12 - 21 F ("‘/DD) =0

75— 22 - (00 =0
M
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If the sum and product of the roots of a
quadratic equation are 2 and -100
respectively, then which one of the following is

correct ?

(a) There are infinitely many such
equations having different roots.

(b) There is only one such equation which is
x2 + 2x — 100 = 0.

(¢) There is only one such equation which is
x2 - 2x — 100 = 0.

(d) There is no such equation.

Ans: C

PYQ - 2024 -1
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If 2 is a zero of the polynomial

3 2 ) PYQ-2024 -1
p(x) = x° + 3x“ — 6x — a, then what is the sum
of the squares of the other zeros of the

polynomial ?

@ 10 ! () =0

(b) 17 ,?5+3[4}2_6(.?)_a -0 “’7(1"2) ;5‘ a /007‘07

() 21

7(2+9x+9

8 + 1A =14 -a = p

d) 37 1--7)15 +3r%-6x-8
gt

f’(ﬂ) ity -t

= (x-z)(xﬁvt 51 +f/) = (x—?—)(Hl) (1

ot -6
At —~1ox

Yr-¢
—‘Ix-—f/o

1+] =0

L+Y -0
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If 2 is a zero of the polynomial
3 9 ) PYQ-2024 -1
p(x) = x° + 3x“ — 6x — a, then what is the sum

of the squares of the other zeros of the

polynomial ?
(a) '10
(b) 17
) 21
(d) 37

Ans: B
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Suppose p(x) = x* + 3333 + azxg +a,x + a5 and

PYQ -2024 - |
q(x) = x* + h3x3 + bzxg + byx + b, are the
polynomials. If o, B, v, 8 are zeros of p(x) and

o, B, v, A are zeros of q(x), then what is /Z /,ag Aer of
p(x) — q(x) /° 7 L — o, f; )’,

?
Xx-—a)x-Bx-—1y) equal to °

(8) -A+d /O(x) - (1“'{)(1‘/3)(1‘}’)(1‘!)
LA Z[") - (1"‘)[1-/3)(1-7)(1-ﬂ)

(e} A+

@ =A=0 . f(’) -j[’) - (X—d)(z-/e)(x—r)‘&-cf -2'*/\]

(-)-p)la-y)  (-4)a-p (x-))
= 24

A~
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4 3 2

Suppose p(x) = Xx* + agx° + a,x“ + a,x + a, and

PYQ -2024 -1
q(x) = x* + h3x3 + b2x2 + byx + b, are the
polynomials. If «, B, v, 8 are zeros of p(x) and

o, B, v, A are zeros of q(x), then what is

(x — ;(1.‘:{;—_ Eg}z ) equal to ?
(@) —-A+3d

(b) A-9

() A+9d

(d -i-38

Ans: B
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2

If the equation x cos 8 = x* + p has a real

PYQ-2024 -1
solution for every 0 where 0 £ 0 < E, then
which one of the following is correct ?
(a) p=1/8 0 £0< 7 }’g
® ps<is t030) 1 b I
(¢ p=21/8 X -_( ff B ""”6""'0'_/}?
(d) p£1f4l D 20 A)l f - ’
2
2 /-
6@{9) ~ ‘MIXf.ZD /’.‘_—#()
/
Losd — 9p 20 v
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2

If the equation x cos 8 = x* + p has a real

PYQ-2024 -1
solution for every 0 where 0 £ 0 < E, then

which one of the following is correct ?

(a) p=1/8
(b) p<1/8
() p=z21/8
(d ps1/4

Ans: B
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If p= #(ah/aﬂ +"b3'J+:€l[a—1/az +b3] PYQ - 2024 - |

then what is p3 + 3bp equal to ?

b=0 ¢ a=y
(a) —2a |

(b) a —
(¢) 2ay f: 3 /""\[/'I'D 7 ‘i[/_ [+0
(d) 3a ‘
- 2(["” 1 {[l—/
P s
pit 3hp - (%)27‘ s (0)(4f3) - a?-.ax/:_
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If p= #(aﬁ/aﬂ +"b3'J+:%}(a—1/az +b3] PYQ - 2024 - |

then what is p3 + 3bp equal to ?

(a) -2a
(b) a

() 2a
(d) 3a

Ans: C
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a—+b 2b b+c

Q)Ifa+b+c=0, find the value of — +

C ct+a d

@ O (b) 1
© -1 (d) 2
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a—+b 2b b+c

Q)Ifa+b+c=0, find the value of — +
C c+t+da d
@ O (b) 1
© -1 (d 2

Ans: (a)
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@i=]

EXAMS

Q)Ifx’ +1y3 +22=3(1 +xy2), P=y+z—x,0=z+x—yand
R = x + y — z, then what 1s the value of
P’ + O’ + R~ 3POR?

(a) 9 (b) 8 (¢) 12 (d) 6
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EXAMS

Q)Ifx’ +1y3 +22=3(1 +xy2), P=y+z—x,0=z+x—yand

R = x + y — z, then what 1s the value of
P’ + O’ + R~ 3POR?
(a) 9 (b) 8 (¢) 12 (d) 6

Ans: (c)
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Q) Which one is one of the factors of

1 1
Ez+—j+8(}{+—J+14?
X~ X
};'l+1 b x'l+3
(a) X+ (b) x+—
1 1
() X+—+6 (dy x+—+7

X X
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Q) Which one is one of the factors of

1

X+ —+8(}:+1J+14 ?

)
X~ X

1 1
X+—+1 X+—+3

() X+ (b) X+
x+1+6 d x+1+7

C. —_ JES—

© x+— @ x+—

Ans: (c)
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Q) Ifx+ — = /3, then the value of x18+x12+x6+11s
X

@ O (b) 1 () 2 d 3
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Q) Ifx+ - = /3 , then the value of x18+x12+x6+11s
@ 0 (b) 1 (©) 2 (d 3

Ans: (a)
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QIf x*+y°+z> =xy+yx+zx, then the value of

3x* + 7y +52°

2 2 2 2 > 5 1S
Sx“y +7Ty"z" +3z°x"

@ 1 (b) 2 © -1 (@ 0
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QIf x*+y°+z> =xy+yx+zx, then the value of

3x* + 7y +52°

2 2 2 2 > 5 1S
Sx“y +7Ty"z" +3z°x"

@ 1 (b) 2 © -1 (@ 0

Ans: (a)
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Q)Ifx*+ —7 =119 amd x > 1, then the value of x> —
X

@) 4 b) 18 © 72 @ 36

1 .
— 18
X3
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Q)Ifx*+ —7 =119 amd x > 1, then the value of x> —
X

@) 4 b) 18 © 72 @ 36

Ans: (d)

1 .
— 18
X3
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Q) Consider the following statements :
1  The equation 1990x — 173y = 11 has no solution in
integers for x and y.
2.  The equation 3x — 12y = 7 has no solution 1n
integers for x and y.
Which of the above statements 1s/are correct?

(@) 1 only (b) 2 only
(¢) Both 1 and 2 (d) Neither 1 nor 2
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Q) Consider the following statements :
1  The equation 1990x — 173y = 11 has no solution in
integers for x and y.
2.  The equation 3x — 12y = 7 has no solution 1n
integers for x and y.
Which of the above statements 1s/are correct?

(@) 1 only (b) 2 only
(¢) Both 1 and 2 (d) Neither 1 nor 2

Ans: (c)
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